
AP CALCULUS
THE CHAIN RULE
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No need to simplify further!
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Note: 1 + tan2 x = sec2 x −→ so f(x) = 0 to begin with and the derivative of a constant is zero!
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26. Slope of tangent
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x=1

= 0 −→ mT = 0

Point

Given as (1, 0)

Equation of tangent

y − 0 = 0(x− 1)

27. Slope of tangent
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28. f ′(x) = 2 cosx+ 2 sinx cosx = 2 cosx(1 + sinx)

In order to have a horizontal tangent, f ′(x) = 0.

Now, f ′(x) = 0 when 2 cosx(1 + sinx) = 0

This will be true when cosx = 0 or when sinx = −1.
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∴ the points where the tangent is horizontal are:
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29. We know that F ′(x) = f ′(g(x))g′(x) −→ F ′(3) = f ′(g(3))g′(3)

So F ′(3) = f ′(6) · 4

∴ F ′(3) = (7)(4) = 28.
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